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var(x) = cov(x) = cov(x,x)= E(x—p,)(Xx—p,)" =Exx' —p,p, .

05: LM Ex~(RI) © E(x) =pn, var(x) =2
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GIEL 454 2 OCHIERE), MAHERY # 0,7 < Ay (ORI,

2V O Vi (B K HFAE AR I R RFAL ) B2) IR 38 B K
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?—"I-‘l: | onon

‘\\ _ _ _ 4 =~ )
/EZ pxyoz - O < pxy - pxzpyz N nyazz - O-xzayzEl/J ‘E"X?

S1<:>1_10>3y _/052 _pzzx +2pxypxzpyz >0 dEt(R) >0
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Lz =10 BACE . 4. Cip, =0 (K2 S HERIARH),
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e EEARN SR
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WA SN ONp. gL R T
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Xyez
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DA A | b — % 1A Hy Ty z=yn—p XTyye, = N(0,1), n—
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22
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R RBOEREUR, SRR R 1., FIRHTES S &S5 H
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X Y y4 y 0 °
r,, =V. e eo
X 1 0.6 0.8 Y o0 0° .
y |06 1 07 o8
: (08 07 1 o, o0
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=0.089
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